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Given that x > 0,57> 0, show that

log, 33 =log, x +Jog,, y.

Solve the equation
23—5:\' =19
Show your working and give your answer correct to three decimal places,

() Express
logy(3x-1)+ logy(x+4)— 2logg{x+1)
zs a single logarithm.
{iy Hencesolve the equation

logg(3x— 1)+ Jogy(x + 4) - 2logy(x+ )=

Lo)—

Given that x > 0, show that
log X" =nlog x.
2, g,

Solve the equation

¥

91 =¢.

Show your warking and give your answer correct to thres decimal places,

Nadbis fhe s S=Ra Wt

log (x—2) + fog Gx+1)= Zlog (2x-3).

Given that x> 0, 3> 0, show that
Eoga% = log,x—log.

Solve the equation
62:\: +5 7

Show your working and give vour answer correct to three decimal places.
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